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Question 1 

! Number of uniquely aligned reads 

Number of uniquely mapped reads  
= Number of mapped reads –  
number of reads with multiple alignments 
= 947951 – 126745 = 821206 



Question 1 

! No feature reads 
!  Number 

!  72879 
!  Proportion :  

!  72879*100/821206 = 8.87 
 

! Ambiguous reads 
!  Number 

!  19820 
!  Proportion 

!  19820*100/821206 = 2.41 

 



Question 1 

! Number of assigned reads 



Question 1 

!  Number of assigned reads 
!  Open the downloaded file with excel 
!  Calculate the total number of reads in the second column 

à  Number of assigned reads = 728507 
à  Proportion of assigned reads = 728507*100/821206 = 88.71 
  Or  

Number of assigned reads  
= number of uniquely aligned reads – number of no feature reads – number of ambiguous reads 
= 821206 – 72879 – 19820 = 728507 
  



Question 1 

! Proportion of reads among uniquely aligned reads 
!  Assigned : 88.71% 
!  No feature : 8.87% 
!  Ambiguous : 2.41%  



Question 2 

! Values of normalization factors for Mitf dataset 



Question 3 

! Number of significantly differentially expressed genes 
between siMitf and siLuc (FDR<0.05) 

à  7179 significantly differentially expressed genes 
à  3387 genes significantly under-exressed in siMitf vs siLuc 
à  3792 genes significantly over-expressed in siMitf vs siLuc  

  


